1.

ths 2ol A AC ¢ dol= ?

@ 2 @\/5 ® V6
@ 7 ® 22

AC=VIZ+ 12+ 124+ 12+ 12 = V50|t




s

1o |o

o] dol7t 4em o AAY DAA BB 7F T A A & T4

ek

1 1 o] 7
Sto AB; , ABy, AB; & WX 502 ol= 05 18 1, AA, &
lo]=?
B, Bs By B B
\
\
I
/
[ 1 /
A4 A3 A2 AI\§4,/A
@ 6 @7 ©E @ 9 ® 10

~&B

AA, = AB; =4V2
=ABy = \/(4V2)2 +42 = VA8 =443

AA;
AA; =AB3; = \/(4V3)2+42= V64=38




thS 1ol gABCD & 3+ #Ho] 2

do]7t 2 _--""2---__D
A HAPo]IL AP =BQ=CR=DS =1 >y
olth. AHE PQRS 9] Holx? 2
P
Q
B C
D 5-3v2 @ 4- 3 ®)4-2v3
@ 5- 3 ®2-V3
OPQRS = A4 gol ez
AQ=V22-12=+v3 . PQ=1+3-1

~OPQRS = (V3-1)2=4-2+3




4. oF AR EOA x & gk F-ohE?

D6 @ V37T ® V39
@2vi0 7




@¥ @ 45 @ 2
@ 245 @?

B
Bx)2+x2+72=9

VI0x2 +49=9

10x% +49 =81 , 10x% = 32

, 16
5
45

~ 5

X

X (x>0)




6. ohe 1R 2e ANER AL v
ul, ALZpEe] Bl

D 24 @ 50V3 @16«/@
@ 64v2  ® 4839

~&B

AFZ}B] ol VEZ- 5% = v39 0|t}
webd R 6 x 8 x VEDX £ = 16
olt.

§| :




7.

= WMER whE 90 Folot FulE Fot Zlo= ook

8cm”

~

3cm

® V3em, 3V3rem?
@ +/35cm, 3V35mcm?

@ 2\/%cm, 2557 cm?
® V50cm, V55mcm?
@ \/%cm, 3557 cm3

0] 1 V82-32= 64-9 = V55(cm)

> 1
Bl 9 x \/%x§:3\/%ﬂ(cm3)




B o] Lol7h 22t ket 2L ), A2zl

O 3,5,4 @ 4,2,23 ®
@ 15,6, V21 @4,5,2\/5

B

o
SHAL, @ + 2 = 2 o] AW AZpakzrgol
o9l HZh4ztego] ofuiet,

@A 7HF 71 H2 5 91, 42 + (2V2) # 52 9]
o] ofytt.




b 1%L 7HR7E 3, AlRT} 10 9 HAL
Z

re g mE

lo
1IN
2
tu
o]

D v103 @ V107
@ V201 ® V203

71—6(:)] o] 1:]- X

@) vios

V102 + 32 = V109




Fol chssh 2ol @ el 20174100l A4
2o 29 2GSl el ol

@ 43, 20V3 @ 5v3, 20V3
@)5+3, 253 @ 63, 20V3
® 63, 25V3

B ,

(—?—:Ol)z%gxm:mﬁ

(dol) = ?xm? 100\/— =25V3




